x7F-1,0, 1, 24 o], oJAPFF A x2 + x -2 = 0 o] HA k= x
o] ko7

D x=-1 Q)x=1

@ x=2 @D x=1F=x=2

®x=—2EE=x=1

22} o7 WA Aol dgelA A-sHe ke w2w ek
x =12 H45HE, 12+ 1-2 = 00] Hlo] WH AL wEgt,




o2 % oA A (x - 3)(x +7) = 0 2] S5 F5HH?

D x=3E=x=7 @ x=-3F=x=7

@ x=-3EEx=-7 (@)x—SELX— -7

(x=-3)(x+7)=0,
x-3=0FE=x4+7=0,
e x =3 = x = -7 °o|th




ohe A2E FoIA BEBATL Y AL 2L

® 1,3 1,3 1,1,1,1 @ 2,4,2, 4,2, 4,2, 4

® 24,2 4,2, 4. 4.4 @1 1111110

® 1,3 1,3,1,3,1,3

FRAE A7t Boll AES Yehing Fojd RS
oA EEBAT} A AL AL @eltt.

ojN




4.  sin0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60° =7

V3 V3 V6
@1—5_ @14-? @1—7
@1+76 @2—73

sin 0° X cos 60° + cos 0° X tan 45° — sin 45° X tan 60°

1 2
:0x§—|—1x1—\/7_><\/§

V6
2




